60 THREAD LENGTH M20 X 1.5
(ISO FINE) THREAD CLASS 6g

M02648B XXXMMYY
- pm—

V=

M20 X 1.5 (ISO FINE)

S0REF THREAD CLASS 6g 0 M20 X 1.5 (SO FINE)
- - THREAD CLASS 6
110 S 60THREAD LENGTH d
REFER TO M02-310 =
oW
N
] ==
o 400 . g @D
o o)
5 & o %)
2 a 1X45 <
B O DETAIL A VIEW
- Y = - - - - - ;ﬂ ﬁ{ 1] | INEXISTING LAYOUT THIS ASSEMBLY IS APPLIED B
R30 TYP 1 }  TOLONG DETECTION ROD. ITEMS 3, 586 ARE
—_— v CHANGED TO SUIT SHORT DETECTION ROD
— o SHORT ROD "X" SEE TABLE BELOW MQOUNTED IN 3RD HOLE ON SWITCH. DETAIL SEE
l=__ LONG ROD "X" SEE TABLE BELOW - M02-310. THE ARRANGEMENT SHOWN IN M02-310
‘ WILL BE USED FOR SHORT & LONG DETECTION
RODS IN NEW LAYOQUT.
DESCRIPTION "X "Y" ! RAILCORP PT No | STOCK CODE
SHORT ROD 84M DETECTOR | 900 125 M02648A 2061869 NOTES
1) ALL WELDS SHALL BE TO A51554.1 SP THE WELD METAL SHALL HAVE A MINIMUM
LONG ROD 84M DETECTOR | 1900 | 125 M02648B 2062784 | *NOTE: NOMINAL TENSILE STRENGTH. FUW OF 450MP2
NOTE: 1.ROD FITS 84M ON CONVENTIONAL & TANGENTIAL POINTS - MATERIAL: 920 ROD A33679-250 R e O RSO 10 G4ALL BE 23] FOR
2.SOME SHORT RODS WILL ONLY HAVE TO HAVE X=690 iN SUCH - FOR ROD ROCOL RUST SHIELD
CASES CUT OFF EXCESS THREAD LENGTH - FOR THREADS 1 COAT RED ZINC PHOSPHATE ~ 9ZNCPLATNG SHALL BE TOASITED AS APPROPRITE o 1Ce
ITEM NO. |PART NUMBER| DESCRIPTION (FOR LONG DETECTION ROD) | QTY. MATERIAL FINISH | DWG REF | STOCK CODE N ACOORBANGE WHTH THE BANY MANDFACTURERS RECORMENDATONS A c
1 M02648A/B | SHORT/LONG DETECTION ROD FOR INBEARER| 1 AS3679-250 NOTE * M02-B48 | SEE TABLE ABOVE COAT CHIGAIMT SHALL HEAVE A MINMUM DRY FILI THICKNESS OfeSSim
2 S120C SKF ROD END 16MM ASSEMBLY 1 1785286 5) SP‘?EthRAEzTDASRY ITEMS SHALL BE MANUFACTURED TO RELEVANT AUSTRALIAN
3 0284 5302 BOLT M20 x 90 HEX HEAD 1 Gr46 AST111 ZINC PLATED BLACKWOODS 6) THE MANUFACTURER OR ITS SUPPLIERS SHALL KEEP AND HAVE AVAILABLE TEST
4 0209 3905 M20 X 2.5 NYLOC NUT 1 DIN 985 ZINC PLATED 1439496 CERTIFICATES FOR MATERIALS. HEAT TREATMENT. HARDENING AND SURFACE
5 M02282G LOWER SLEEVE 1 | STAINLESS STEEL Gr304 M02-282/4 1865492 - oamrs S;ML D WHERE SHOMR 17 PART NOMEER AND XM
|
] MO2166E INSULATION FERRULE 2 NYLON NATRUAL M02-166 2062974 ) WHERE XXX=MANUFACTURER'S MARK AND MMYY=MONTH AND YEAR OF MANUFACTURE
7 M02282H UPPER SLEEVE 1 | STAINLESS STEEL Gr304 M02-282/4 1865500 B) WHERE AN ASSEMBLY IS ORDERED THE MANUFACTURER SHALL SUPPLY IT COMPLETE
o wooe STEP WASHER T STAILESS STEEL Grabd Wiz 262 | Tec54ts R L e s
9 0290 1295 HEX NUT M20 X 1.5 1 STEEL ZINC PLATED 2089639 NUMBER AND XXXMMYY A3 ABOVE
10 0374 7400 HEX NUT M20X2.5 4 STEEL ZINC PLATED 1737477 9) THREADED SURFACES NOT PROTECTED BY PLATING SHALL BE COATED WITH ROCOL
M20 CONCAVE/CONVEX WASHER (IF NOT |2 4335319 Tor itianchi e
1433531910182 SUPPLIED WITH POINT MACHINE) pAIRS| STAINLESS STEEL Gr316 (M02-669) | VESTINGHOUSE 10} BEARING SURFACES NOT PROTECTED BY FLATING SHALL BE GOATED WITK ROGOL A §
SPRAY OR AN EQUIVALENT ALTERNATIVE
0 ! GENERAL T FRANCES
DRAWING UPDATED TO SOLIDWORKS FORMAT 23312 | CY.L |2z 2y o T A L§?§§§ s or= Ra] TITLE NEUTRAL AXIS STYLE DETECTOR RODS
ITEM 1215 DELETED. ITEMS 8410 PART NUMBER UPDATED. ITEM 4. 5 8810 stack cooe uroate  [26/10/11] C.Y.L.| CYL.| RLE.| P.S “'?EéSL . 0 35 SIGNALS ON SCARFED CONCRETE BEAMS D
ADLUNTED I st 10, G STor RERER To w2310t ot B o mommancmcar - (306111 | C.Y.L.| CY.L.| RLF.| RWALsorae + 30" Chie? Engineer’s Niv's.on
DESGRIPTION DATE DRAWN | REVIEWED | veRIFIED | APPROVED | 1 (,NAL DESIGN EP DESTIGNED DRAWN Ry ICwWED VERTETED ARDRITVE D
™~ 5: St 0/ f 7
This drawing and the information contained thereon have been created soiely for a © ALL ki Q 7 ? ? R.F. H.E. R'L'F' AJ.N. RW.A,
ggﬁgg/?f lfgg}o]gg ;nd ;‘ggﬁg H.'v;?u's s {grot‘eded by cop}fgg:?ft.c You may ”ﬁf re,%rod%ciy . DIMENIONS _D_ iR SCALE CR(~  No [RIaNY N A3
4 WIT W & WHITET pDEHTNSSIO 3
O'O,yyau may Rave to PaY damages o RaﬁCor,;o;grfb?n pyuh Sacfﬁg%ggs grwyazlﬁvay g:Zrészcagred MILLIII\TETRES g ta - <A, CA D DO N OT AM E N D MAN UAL LY 13/02/2006 N.T.S. M 02-648 6
[

7 3 U A g 6 O 40082/,




